SPSS syntax file for creating and coding pv and fv, and for obtaining crosstabulation:

compute pv=provote.

compute fv=fedvote.

recode pv,fv (1=1)(2=2)(3 thru 5=3)(6=6)(7 thru hi=sysmis).

freq vars=pv,fv.

crosstabs pv by fv/cells=count expected/statistics=lambda.
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compute v50=v5.

compute v60=v6.

recode v50,v60(1,2=1)(3=2)(4,5=3).

format v50,v60(f1.0).

variable labels v50 'tax big corporations' v60 'govt helps big business'.

value labels v50,v60 1 'disagree' 2 'neutral' 3 'agree'.

cross v50 by v60/cells=count expected/statistics=all.
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